Practice 1.3.1 A: Identifying Terms, Factors,
and Coefficients, p. U1-100
1. terms: 12a3, 16a, 4
factors: 12 and a’, 16 and a
coefficients: 12, 16
constant term: 4
2. terms: 6x2, 3x, 9
factors: 6 and x’, 3 and x
coefficient: 6, 3
constant term: 9
3. expression: (x +)/2) —y/3 =(1/2)x + (1/6)y
terms: (1/2)x, (1/6)y
factors: 1/2 and x, 1/6 and y
coefficients: 1/2, 1/6
constant term: none
4. expression: 50 +(6-x)=4x" +6
terms: 4x’, 6
factors: 4 and x°
coefficient: 4
constant term: 6
5. Answers may vary. Sample answer: 3x’ + 6x" + 9x + 4
6. expression: 6x — 0.15(6x) = 5.1x
term: 5.1x
factors: 5.1 and x
coefficient: 5.1
constant term: none
7. expression: 10x —0.20(10x) + 3.99 = 8x + 3.99
terms: 8x, 3.99
factors: 8 and x
coefficient: 8
constant term: 3.99
8. expression: (30.24 —2.24)/(x + 1) =28/(x + 1)
term: 28/(x + 1)
factors: 28 and 1/(x + 1)
coefficient: 28
constant term: none
9. expression: 1/2(11l +b)hor 1/2(b )h + 1/2(b)h
terms: 1/2(b )h, 1/2(b )h
factors: 1/2, bl, hand 1/2, bz, h
coefficients: 1/2, 1/2
constant term: none
10. expression: 277" + 21trh
terms: 277", 27k
factors: 2, 7w, and 2, T, 7, h
coefficients: 2, 27
constant term: none

Practice 1.3.1 B: Identifying Terms, Factors,
and Coefficients, p. U1-102
1. terms: 14x2, 2x, =9
factors: 14 and °, 2 and x
coefficients: 14, 2
constant term: -9

10.

. terms: 13x, 20

factors: 13 and x
coefficient: 13
constant term: 20

. terms: (4x")/5, 9x

factors: 4/5 and x°, 9 and x
coefficients: 4/5 and 9
constant term: none

. expression: /3 +4

terms: (x')/3, 4
factors: ¥, 1/3
coefficient: 1/3
constant term: 4

. 6
. expression: x + 3x

terms: xﬁ, 3x
factors: 3 and x
coefficient: 3
constant term: none

. Answers may vary. Sample answer:

12x" + 15x" + 18x" = 21x + 3

. expression: 2x + 0.05(x) = 2.05x

terms: 2.05x
factors: 2.05 and x
coefficient: 2.05
constant term: none

. expression: 4x — 0.15(4x) + 4.85 = 3.4x + 4.85

terms: 3.4x, 4.85
factors: 3.4 and x
coefficient: 3.4
constant term: 4.85

. expression: x +x+ (x—4) + (x—4) =2(0) +2(x—4) =4x -8

terms: 4x, —8

factors: 4 and x

coefficient: 4

constant term: —8

expression: 5/9(F - 32) = (5/9F) - (160/9)
terms: 5/9(F), =160/9

factors: 5/9 and F

coefficient: 5/9

constant term: —160/9
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